3.5) Integrating using partial fractions



Worked example

Your turn

Find:

J 1+x g
x3 + 16x X

Find:

j 1+x q
x3 + 9x x

1 x* 1 X
1—81n 2219 +§arctan (§) +c




Worked example Your turn

Find: Find:

3x — x? p x% — 3x p
f(x2+9)(x+3) X J(x2+6)(x+2) X

3 X
In|x + 2| —ﬁarctan<ﬁ> +c




Worked example Your turn

Find: Find:
4 4
j X*+x q ] X"+ x dx
X
x* 4+ 7x2 +12 x*+5x2+6
x + %ln ;Cz—iz‘ + 2+/2 arctan (%) — 3v/3arctan (%) +c




Worked example Your turn

Evaluate: Find:

1 2 1 2
JO (x +2)(x? + 2) jo (x+1)(x*+1)

1
Z(n+21n2)




Worked example Your turn

Find: Find:

J x*+1 p j x*+1 p
x(x2 + 3)2 * x(x? + 2)? g

1 3
—1 —In|x? + 2
4n|x|+8n|x+ |+4(x2+2)+c




Worked example Your turn

Find: Find:

1 1
d d
J3x2+6x+7 x ]2x2+4x+11 X

1 \/i(x+1)>+c

——arctan (

32 3




